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L HFRAGEGRGART QRBAER D ofT - (7 FERMAZHHAR > LR E RIT?
FEEFH@RA) (10%)

2. FHWA E A (ip current) s e F 1 GAA R ZE A BEFE E¥ @) - (10%)

3. #3.9A shallow water wave (3% 7K % )#v deep water wave (iR 7Ki&) (10%)

4. 4/ & Neap Tide? 4+ & Flood Tide? (10%)

5. S AR (upwelling) Y A 69 R B 21477 (10%)

6. 35378 32 % (geostrophic current) % Az 69 B B A 472 (10%)

7. FHRU X R A% #(Ekman transport) 7 A& 89 & B A 477 (10%)

8. I & ¥ i (western boundary current) s 89 & B 47 ? (10%)

9. F—EREGRR ZERAEBY  FHRELRREERINAZS D7 BRASEHBE AKX
T4 TF o (10%)

m.%*M%mﬁﬁﬁﬁﬁmﬁzmmPﬂ%%l%vﬁ%%ﬂmf%%ﬁ%ﬁﬁ%%iﬁﬁ?
(10%)
Hint: tanhx=1 when x—o0; tanhx=x when x—0

ps: ARERIGE A EM > ZHEEEHENN sy BHEXRT -
w* = gktanh kh




